NEC/ PNP SILICON TRANSISTOR
2SA1460

DESCRIPTION The 2SA1460 is designed for power amplifier and high
speed switching applications. PACKAGE DIMENSIONS
in millimeters (inches)
FEATURES ® High speed, high voltage switching. 7.0 MAX. 1.2
® | ow Collector Saturation Voltage. (0.275 MAX'),-: (0.047)
'@ Complementary to the NEC 25C3733 NPN transistor. ><'§ ' <3
iz o8 £=
ABSOLUTE MAXIMUM RATINGS 0.810.1 og ~g =T
Maximum Temperatures @031) ] mlv - | Te
Storage Temperature . . . .. ... . —5:5 to +150 °C o o2% 06401 gg
Junction Temperature ....... 150 “C Maximum (0.024) ol
Maximum Power Dissipation (T = 25 °C) ?6(,5:22')1 =3
Total Power Dissipation . . ...... e 1.0W 0.5540.1
Maximum Voltages and Currents (T3 = 25 °C) 0.08% [T (6.067) X T (0.022)
Vcego Collector to Base Voltage . . . . . . -60 V PR EE
Vceo Collector to Emitter Voltage . . .. —45 V S o=
Vego Emitter Base Voltage . . . . ... . . -50 V "3 ©
Icipc) Collector Current (DC). ... .. .. -10 A ;: EL’}:.‘,‘;L, €
Ic(puise) Collector Current (pulse)™. . . . .. -20 A 3. Base
* PW = 10 ms, Duty Cycle < 50 %
ELECTRICAL CHARACTERISTICS (T, = 25 °C)
SYMBOL CHARACTERISTIC MIN. TYP. MAX. UNIT TEST CONDITIONS
ton Turn-on Time 25 40 ns Veg=-10V
tstg Storage Time - 46 70 ns Ic = —500 mA
toff Turn-off Time 62 100 ns | !B1=-1B2=—-50mA
fr Gain Bandwidth Product . 300 400 MHz Vcg=—10V, Ig = 100 mA
Cob Output Capacitance . 11 25 pF Veg=-10V,Ig=0,f=1MHz
hggq+ DC Current Gain 60 120 200 - Veg=-10V, Igc=-50mA
hggg* DC Current Gain 60 150 - Vg =—-10V, Ig = —500 mA
VCE(sat)* Collector Saturation Voltage ~0.26 —0.60 v Ic=-500mA, Ig = -50 mA
VBE(sat)* Base Saturation Voltage -0.98 -1.20 v Ic=-500mA, Ig=—-50mA
Ices Collector Cutoff Current -0.5 uA Veg=—45V,Rge=0
lego Emitter Cutoff Current ~-0.5 HA Veg=-4.0V,Iic=0

* Pulsed PW = 350 us, Duty Cycle < 2%

Classification of hggq

Rank L K
Range 60 to 120 100 to 200

hFE} Test Conditions: Vg = =10V, Ic = —60 mA
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TYPICAL CHARACTERISTICS (T;=25 °c)
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SWITCHING TIME vs.
COLLECTOR CURRENT
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Ic—Collector Current—A

SWITCHING TIME TEST CIRCUIT

Vec=-10V T

10 %
Vin g 7
20 Q 90 %
Vout j
Vout
Vin - 100 0
o— AN\ ton
50 0 130
n/.
. n L 10 %
Vgg=5 V .
v 10 %
out 90 %
tstg —
toft
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